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1. wr Rewr o o R wa S b
Sfea : , 1x5=5
Find out the correct answer from the following
alternatives in each question :

(@ % «HE RGB! Tosmdy SEw ¥ J, o

R

A subgroup of a population that is to

be studied is called

(i) afsmf/sample

(ii) ©%i/data

(iii) =i/ statistic

(iv) €1 BRCFLHI/All of the above

( Turn Over )
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b) W By<3 W, T IAGT A
IGT |

If B5 <3, then the distribution of the
random variable is

() IS
mesokurtic
(i) @Sl
leptokurtic
(iii) cafbeite
platykurtic
(v) [T gbie Ty

None of the above

FRE AT SR g €17
Positive skewness implies that mean is
() ITFT wrey
greater than moge ‘
(i) IeTFot e
less than mode
(i) IR
€qual to moge
(@) /3 g ey

None of the above

() .
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(d) M TR QIT B by AF b, =W, cofm
TR B T

If the two regressfon coefficients are
b, and b,, then the correlation °
coefficient is

() by /by
(ii) by /by
(i) byb,

(iv) +bby

(e) <b ToF A IFARS e WAAfeT 76
PR @A PO I IR FIAF T
TR | ‘

The condition for the consistency of a set
of independent class frequencies is that
no ultimate class frequency is negative.

(i) B=
True
(ii) AT WF
Partially true
(iii) TS
False
(iv) 8°RT dbre =

None of the above
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2. wTe TERRe ey iy 248

Answer the following :

(@) Rt % Rt wam e oy

Define discrete and continuousg data.

) 1y R G my S (1, 41, ) e g

TG,y TR W T
n,

]

(c) Yi =a+byx,, i=12 ..

TE r o Fiagagy J—(i) r =1,

If yi =a+ bx

ir I= L 2’ hn, then show
that the Sample Correlat

ion coefficient r
o.f the datg et X Y;), i=1 9 ... n is
glven by r=y i -
ifb<o. y
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(@ T 1 N @ AN WF YN
AN 2 ?
When are two attributes said to be

positively associated and negatively
associated?

3. (a) RN O TR 29 SommeRRe
&9 oo o I a1 eIRRISE ©
I AF ARG TS A1 (YA | 6+3=9

What are the broadways of presentation
of statistical data? Explain each of
them in brief. Distinguish between
classification and  tabulation  of
statistical data.

o331 /Or

(b) @A @B FRAR 200 T FHA AR
5 (59T T RS f731 BICE | AN
R Re ‘eee @R TF e W
AT IRITS] TG 93 2FS F AT O {0
Sfirs 51 S F901 200 A STSE T 5

oty 1 TR e Rort A 90 :
2+2+3+2=9

The table below gives the weekly wages
(in ) of 200 employees of a factory.
Construct the cumulative frequency
distribution of ‘more than’and less than’
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of the given data and draw the
ogives thereof. Estimate the percentage
of employees who have wages less than

or equal to ¥200 :
TR I (57 TR S’
Weekly wages (in ¥ )| Number of employees
150-170 10
170-190 24
190-210 36
210-230 S8
230-250 45
250-270 15
270-290 12
\\

| 4.'1‘3[@@@31%%3%:

Answer any one question :

@ @R I IR 3577 e o @—
T IFO Gy U | W Sy
BTE ot o Eul :
Show that
distributio
than uni
skeWness is

10

for any frequency

is greater
and the coefficient of |
less than unjty, |

D—kurtosig

|
A, AR vl |
@Wmﬁwq’a? - 5
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If th.e first quartile is 142 and the
semi-interquartile range is 18, then
what is the third quartile?

(i) PRI BNF 40 WF BT TG 30
2’0 e Reem 9 Sfenear | 2
If the coefficient of variation is

40 and the arithmetic mean is 30,
find the standard deviation.

(b) A% GOR FIR a7l oA & @ 7
L o RN B T @RER oA
qF @EER T, S w91 el @5

2T CARBFR fera 1 342+2+3=10
What do you mean by central tendency

of a distribution? Mention the measures

of central tendencies. Mention which are
computational and which are positional.
Write down the characteristics of an
ideal measure of central tendency.

e Roem, wicefee Rewrd e ﬁm
@mwmwﬁmlmqwa,ﬁ@mﬁﬁ@
IR PC T oo, TARIE TG ARE

1% Reerole 7F T | 2+2+2+4=10
standard . deviation, relative
dispersion and coefficient of variation.
Prove that, for any discrete distribution,
standard deviation is not less than mean

deviation from mear.

(c)

Define
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S. (a)

(b)

(8)

I @ R A o PR R
T TV BN r B | 7 X o ¥
T W W, a, b, ¢, d R @A K
¥ a#0, c#0 7, m’mﬁ?{@m@

raX+h ¥ +d)= % . (x y)
lac

Show that the coefficient of correlation
r is independent of ch
and scale of the variab]
are random Variablesg

es. f Xand Y
»and q b, ¢ d are

rl@X+p, cY_-+d)=|£|"(X’ Y)

TOF R @ iy
e bx+y-31 =0.

YT @S x3 wrF %3
RS y3 A QA

Two regression lin,

€S with equations
are 3x+2y-26.¢ and 6x+y-31=0.
Determm§ the Tegression line of y on x
and xony, Fing

_ . © Mean values and the
Correlation Coefficient between x and Y

( Contl’nu'ed}:
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6. (a) TS TrEY I TR (FIS A WIF B B9 151
ARE I YMIFOIE TRAN W @ 72, =
39 ' 3Ye+3Y%=7
Fim.i if the two attributes A and B are
positively or negatively assaciated in
each of the following cases :
(i) N=1000, (A)=470, (B)=620,
(AB) =320 ] ‘
(i) (A)=490, (AB)=294, (o)=>570,
(@B) = 380

%3 /Or

() &R Togor TR il 1 R A S B &

o o, (SRR (TIEA 4, o OIF P Tog -
231 3+4=7

Write down the conditions for
independence of attributes. If two
attributes A and B are independent,
then show that o and p will also be

independent to each other.

16-21 /139 - { Turn Over )
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( Old Course )

Full Marks : 80
Pass Marks 1 32

Time : 3 hours

1.wﬁwwﬂmﬁ%cﬁrﬁmmﬁ%mzhzﬁ
Bforear

1x8=8
Find out the correct answer from the following
alternatives in each ques

tion :
(@) IIARE LY Loy
Frequency polygon is an €xXample of
() O Corgrompg TR
textual Presentation
(i) T Borgroper -
tabular Presentation
(i) T Sorgropg e
diagrammatie Presentation
(tv) Y Borgropy Tz
" graphica] Presentation,
16-21/139
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(b) ST (S) TR, I 200 AW TS
’.I‘he, variable weight (in gm), e.g., 200 gm
is
(i) FABF/nominal
(i) TS /ordinal
(iii) S@IEPPS/ interval
(iv) SR/ ratio

(c) T AR BT fR (&=
The limits for quartile coefficients of
skewness are

() £3
(i) £1
(i)
(iv) 0 % 1

Oand 1 |
“mqﬁaﬂ@@ﬂqmm"’mbm
“The variance is equal to the second
central moment.” The statement is
(i) T3 791/always true
(ii) G-I 3} /sometimes true
(i) @fme 7o 7= /never true

(iv) W4F/ambiguous

(d)



(12)

e) @@ 'q'%_a# AW
For a leptokurtic distribution
M By >3
(ii) B, <3
(iii) B, =3
(iv) B =0

1] mmqu@rblww%q’m,w
QNI r 37

The regression co
then the correl

@ by /b,
(@) bb,

(i) b, /b,
@) +bb,

rxy >0

efficients are b, and b,
ation coefficient r is

(9

i) CovV(X,Y) =g -
(ii) COV(X, Y) <0 -
(iii) cov(X, ¥) 5.0
(iv) CoviX, Y) = -, a,)

16-21/139
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(13 )

(h) B Fog M IIATE LS Fofe v
R, @I pOB A I

Thf: conqmon for the consistency of a set
of independent class frequencies is that
no ultimate class frequency is

(i) *FU =¥ /zero

(i) IF =4/ positive

(ii}) ST =/ negaﬁve '
(i) RIS W/inconsisteﬁt |

2. e faCARd Ted far 2x8=16
. Answer the follbwing .
| (a) ﬁﬁiwwﬁﬁiﬂ@mmﬁm

" Define d1screte and contmuous data.

v(b)ﬂmsqu\m_ b1 (orT Torr o

| Write a note on mtewal scale.
'm%m@ﬁmmmﬁﬁ@amawqw
R, g ACAFEE 55 RoeFoE T %]
EREI .

Show that
standard deviation is

deviation from mearn.

(c)

for any discrete distribution,
not less than mean

16-21/1309 ( Turn Over }
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(@) DB TS IBR vgde R Wi
BT ® 06, M T e fu g
@ 100 T F TR T 38 |, co0@
% o1F N vodet IR Sftear |

In a frequency distribution, the
coefficient of skewness based upon the
quartiles is 0-6. If the sum of the upper
and lower quartiles is 100 and the

median is 38, then find the value of
upper and lower quartiles.

(6) CRTTOR (4w xS Grer foa |

Write a note on measures of skewness.

() TS @ ol Pregeoms sromm w11 T
T -1 HF +137 S YT |
Show that the value
coefficient of corre
between -1 and +1.

of Karl Pearson’s
lation r always lies

() TRERT R R o e, e

Explain why there are two regression
lines,

(h) ﬁmwﬁm«mmﬁwwm
AN =W 9

When are two attributes said to be
Ppositively associated anq negatively
associated?
16-21/139
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3.
oo R @ gl e e e 7x2=14
Answer any two questions of the following :

fo7 eporc v 3

What are the broadways of presentation
of statistical data? Explain each of them

in brief.

(b) ~RemsRES Y AT TE ARERE THS

ool CTYeA | G 4 PSR
- fors AF AR
G o FAE G

(R TafE) ST
ssification and

Distinguish between cla
istical data. Prepare

tabulation of stati

a blank table for showing . the

:on of population of a country
according to

ur regions),

regionwise (fo
(three age groups).

sex and to age groups
3+4=7

(c) oy Coret fordl
Write short notes on:
(i) ﬁﬁvwmxﬁnwmaﬁﬁmﬁmm
Limitations of statistics
(ii) IR afE oF aifor

Statistical pOpulation and sample

( Turm Over)
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4. o1 R @ 9ot o= Tey i - 9x2=18
Answer any two questions of the following :
(@) &&W zizmm{ﬁm%{m?m@w
mwm&zﬁcﬁwiﬁ@ﬁmmﬁm

F Ny IR W R NG W e
WIFA X, J‘cZWol, o W, (3

ST @ RS AAOR ey
1 nyn,
62 = no? +n,y03 +—12 _xz)z]
n +ny n +n,

4+5=9
What do you mean

central tenden

atons  of two  series
numbering n,

St o gy "
FE
gﬁ,{% » (OB My Ao
“Tﬁ"fw .‘m%ﬁ'\‘ﬁll

16-21/139
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Obtain the relation between the central
moments of order r in terms of the raw
moments. If the first four moments of
a distribution about the value 5 are
equal to -4, 22, -117 and 560, determine
the corresponding moments about the

mean.

(c) B e ReFar TR aRernz B &2 oo
e SIF TAE RoFE TES T8 NIFERR
ot 91 | (A (1 AR W T TRaA
SoieT N Rvem R | 3+3+3=9
What are the characteristics for an ideal
measure of dispersion? Explain the main
differences between mean deviation and
standard deviation. Show that standard
deviation is independent of change of

origin and scale.

5. oy R o o o o o 7x2=14
Answer any two questions of the following :

desirable properties of
elationship between
i between

What are€ the
a measure of linear I

two variables
positive, negative
16-21/130 ( Turn Over )
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. - s.
regression equation

€ regression equations
are affected duye tq change in scale.

© ey o, .

Given that, X=4y,5 and Y =KX +4
are the lineg of Fegression of X on ¥ and
Yonx Tespectively,. Show that 0 < 4x <1.
¥ K=1/16 % find the means of

€ two Variableg and coefficient of
Correlation between them,



i
|

(19 )

What do you mean by -consistency
of data? Write the conditions for
consistency for three attributes A, B, C.
If (A)=52, (B)=58, (C)=48, (AP =7,
(Ay) =22, N =100, then find the greatest
and least possible values of (BC) so that

the data become consistent.

&<t /Or

(b) @ Wea R @2 far R @
W= =B =B=C)=t=2"

e fie e @, (ABO) = (o) | (ST &
2(ABC) = (AB) + (AC) + (BC) ;]EV,

nﬁﬂmAiB’ame‘icm, =B
Ty &a1 @, IRl ARCHI 2+5+3=10
What do you mean by attributes? Given

that, (4) = (&) = (B) = (B) = € =t=7 and

also given that (ABC) = (aBy). Show that

N
2(ABC) = (AB)+ (AC)+(BC) -~

if all A’s ar€ B’s and all B’s

Show that, :
g all A’s aré C’s.

are C’s, then

* Kk
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